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1.0 Y- audjlez  1PAD/1P/IA
1-0 Y- audjlez  1PAD/1P/PD
1.0 P-F audlez  1PAS/-)/) S
1.0 P-F audjlez  1PAS/-1/PP
1-0 P-F aad)lez  IVPAS/- ) /W
1.0 Y- audjlez  IPAS/-P/IV
1-0 P-F audjlez  1VAS/.P/P.
1.0 P-F aadlez  1VAF/-P/PY
1.0 | 25 SEPRE-S PESEE | LY 0% o/ o
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1.0 1.2 PRSPPI LY. YR 2PN
1.0 IP-P aad,lex 1MAD/1P/YD
1.0 WP-P aadlex 1MAS/-N /0S8
1.0 IP-F aad,lez 1PAS/ /P
1:0 IP-Y aad,lex PRS- /Y.
1-0 IP-P aad,lex  1MAS/-P/IY
1:0 (1.5 PR S PP LT TR A
1-0 .25 S W S PP ) LY 0 94 3%
1-0 IP-P aadlex  1MAS/eV/eY

Sl Ogl 11-11-2P1 ) ¥ oLy
y.vr 1 s 1D/ /v,
y.v r-¥ s 1MD/IP/.Y
y.v r-r s 1D/ IP/NE
y.v r-¥ s 1MD/1P/P)
Py r-r s 1Mg/-1/14
vev r-¢ s g/ /vy
y.v r-r YWE AL LVIRS J2% 4
vy r-r PRI LV IRS JAL
y.y r-r wds  IMag/-YN s
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1.0 Ao aubylez  1PAB/1F/1A
1:0 A=V acdlez 1FAD/1P/YD
1.0 Ao audjlez 1S/ 0/1F
1:0 A=V asdlez  1PAS/.0/PY
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1.0 A=V aadjlez  IPAF/- /Y.
1.0 A=) e dadlez  IVAE/-PIY
1.0 A=V aadjlez  IPAF/oF/P.
1.0 A=) e aadlez  1VAE/-P/VY
1.0 AV dadjlez  IPAE/W/ e
S e G5 puol iS5 BT 111 p-Feq ) b S5 Sle
1.0 S A S PR LY YAR JAPY
1.0 —IP oAbl 1PAD/IP/YD
1.0 CIP oAbl IPAF/-1/NF
1.0 Y aadylex MRS/ /PY
1.0 CIP asdlez  IPAS/- N/
1.0 CIP asdlez  IVAS/-PNIY
1.0 —IP audlez  VPAE/eV/Y
1.0 1P asdlez 1VAS/-P/VY
1.0 S TSI PRI | L V8 0



